=
M= 23% M0 653 7009H 012 HHA -
[202449 T 156HIH] & I =Sa3 02X 1502015t & 53kg, == 54kg J1= 1502 =1t OH ScoT
1502+ DFXl +1kg
S 1< 7,000& & as 0t Z|= EMZFHIA "SAIZ
2% 3,220 & - BRIIE (Re=EL8) 1301308
= a3 Py = ; - =
800m 39l 2,10082 | siS2(He) 1:07.0 1:01.6 (540, 84) T
(14,000& &) 4% 980& & Hl==0t 1:07.9 1:00.0 (56.0, 68%) g2 M
F |4 _dil 59| 7002 14A1302
1 Al‘ EI' % v 5.0 240321 3R FSAIAL 800 4%
@ 7TEALZA 1:082 5.0 8
31 (21.05.30) A= 2 8 Q b 018 o= 11 50092
(PIUEEAL / (2)EREH Sak B0S(8.1)/1: 25 | @ 422HAIH 1:09.1 54013 25
08 (0/0/0/0/0)/0&a SHEHOH: 0R(0/ 0/ 0) @ AIZHE 1:00.1 53.0H S9!
EX:3 /5,00 ™ (NE) XA S AH(20X) ©® 2x242l 1:09.4 5.0 FY
A OFE: 204 ® 522/0f 1:00.8 B.0R BE '
HII=SIS 2FZX1: 83| 1072(2) 18.4-50.7-17.0 / & 18.4 - 4C 3.1
2403108 X 2232(3/8) Big
=253 o=
= Elisly
2 X AH TII 5.0 240314 2R FAIAL 800 8%
= a — (D 431RHR AL 1:10.0 54.0H 281
3Al (21.01.03) RI= A 3 dEL @ 2HUEMT 1:10.3 4.0 =5
(PIUSHAL / (D)UY Sk 4585( 13.7%)/19: 705 |@ 30HSE  1:11.0 54.0H B8
08 (0/0/0/0/0) /08 SHEO: 0X(0/ 0/ 0) @ 5AIREZ 11111 53.00 &8
EX:F /6,00 (NE) EDAHZEHS (9X) ©® MBIIE 1:11.2 B.OR A
WA O3 e ® 1x242] 1:11.2 5.0 HY
D=8l 2Z=E1W: 103 2142(X) 18.551.8-17.3 / 3 18.5 - 40 35.0
231203% X 332 1(2/9) 310
Z|353| #SA2 1 0
240314 2R FSHAIAL 800 8%
3% 2t & Al (:) %0 @ 4BRHTA 1:10.0 5A0H 2!
3Al (21.02.25) ®IZ= H 8 sl @ 2HBHT 1:10.3 540 =5
(RIMEEAL / (D)SH2IE= S TRE( 13.56)/19: 75 | @ 30IEE 1:11.0 54.0H 848
08 (0/0/0/0/0) /0= SHZHOk: OF(0/ 0/ 0) @ 5AIRHE  1:11.1 B3.0H &8I
S | XML ZWA 2N (165 6 9MBHIIE 1:11.2 BB.0R2 B2
A OHFE:EII8 ® 1Zx242] 1:11.2 5B.0R ¥
HEII=SIS 2FZX1: 93] 1362(¥Ql) 18.851.2-16.7 / & 18.8 - 4C 3.4
5556(1/9) 31kg
Z258| +S43 1 &
1 }I = T 53.0(0) | 240112 1R 6 800 SOk 7002HR | 231228 2R FHAIA 800 BH13% 230831 2R 3-8 AIAL 800 S416%
_' ° e @ 5CHEDIR 1:06.1 5.0 = (1) |D 78t2+AISH 1:08.9 4.0 B @ 5HAHR 1:07.6 54.0 Lt
3Ml (21.06.20) I & 25 m HER ez 1wamo ane |@wzus res 508U 210550/ 1:8.2 8.0 FE5
(R)IE=0 / (2)85k= Sk 595( 6.1%)/14: 15 @ 8RHNE 1:07.2 B0 SF ) |@ 344 1:83 5.0 42! @ BCHXIHIE 1:0B6 53.0 =
1®(0/0/0/0/0) /0= SHEOk: 1&( 0/ 0/ 0) @ 3YSE 1:07.3 6.0 40 (5) |@ 8HEAIS 1:08.5 54.012 M3 @ 6EAT  1:00.0 540 ZM
EH:11= / 10,0082 OHE) ZRALHSE(11E) ® PH=IF 1:07.5 B0 =ZA 6) @ ZHLES 1:10.0 B2 200 5 32EZ  1:00.5 %00
WAH:7 O 22 @ OHHEE 1:86 B0 BE® |® 1SESW 1:11.9 H4.083 5 @ HAEE 11125 B.OH A
Z|10:1:08.6 (20112, 53.0, %) 2Z=ZXW: 1035] 1482 (ZH/45]18.050.6-18.6 / 3 18.0 - 40 3.6 | 17.952.1-18.9 / 3 17.9 - 40 B.5 | 18.953.6-19.5 / 3 18.9 - 4C 34.8
T 1:086 1&(0/0/0) 230902201 700776(7/10) 26 -1 =5.9 B= 4.445(5/9) BKg 8899(9/10) B4
z|253| 543 &R =20
5 E [“_ [H - 54.0(+2.0) 231222 R §1I6 .aoo YR 7 o 002HR| 231207 3R =@ AIAF 800 2UB%
* ojoor |VSUHEN 1182 B0 85 @) | 6AHEM 1080 8.0 U
3Ml (21.03.08) ®I= H & £ = HARY |2 ornizoi 1o B0 22 © |@ 7HER 167 MoH B
(RIEEME / (R)ESS2 Sk 4B5( 9.0)/18: 8BS | @ 2MEAE 11141 B0 A (1) | @ MO 1:09.5 54.002 T
1™ (0/0/0/0/1)/ 7008 SHE0F: 0F(0/ 0/ 0) @ 74H2 11141 B0 SE6) |@ 53E0HE 1:10.2 B.0H A
EX:UF [ B0 () ESmYNEEIETE-{QES) ®6=0HH2 1:14.5 2.0 5 @ |G 22IXICIH 1:10.3 54.00 =
) 0L S0t ®10GISAE 1:158 540 =5 (9) © IS0HIZ 1:10.4 54.012 T3l '
Z 01145 (81222, 2.0, ) 2Z=ZW: 108] 1655 (MH3I/2/A 19.1-56.420.3 / 30 19.1 -4 36.5 |18.851.6-17.3 / 3¢ 18.8 - 4 35.5
" 11145 1E(0/0/0) 2310295 X| 800896(510) 28 -2 =210.6 712 44.45(6/7) 25g
Z|253] +S4A3 TR =206
240314 4R FAIAL 800 8%
6 X 2 5.0 ® 5DBAICH 1:07.3 53.018 43t
3Al (21.01.21) RIZF= &= & NEY | @ecuzn o7 g0z
(PEAER [ (2)g=2 (515 |@ 4224 1:07.8 54.0H ZEI

08 (0/0/0/0/0) /08
S /5,082 000E)
A

SHEDIS8IS

AS
*Sa3

Z|252 10

@ 3URIEA 1:09.0 53.0 CHE!
® 1AL 1:09.0 3.0 82

2403157(}7‘1 Xl ke
240314 ™ X THH

® 224 1:09.8 53.0 S==
18.2-50.8-18.0 / 3C 18.2 - 4C 33.9
553 4(58) Z0g

R 233 [2024.03.29]




7 _?_ xF i 54.0(0) ?1215 1R X6 800 H|18% 7008+S @12_3 R FHAIA 800 6%

o <” ) @ 42302 1:06.4 60 Y @) | 8ESZ  1:07.0 5400 FY
3Al (21.05.10) ®IF £ 2 ; 483 @ 3etHIA 1:06.6 5.0 BE(Q (@ 72220 1:07.9 5.0 H2
(RIMEEAL / ()L SZ Sak 3005( R.M%)/19: 545 | @ 22t2tal 1067 5.0 AT (1) |@ 52422 1:9.0 5.0H I
1™ (0/0/0/0/0) /0= sHHOk: 1&( 0/ 0/ 0) @ 6Z0F  1:0B7 R0 T3l (4) |@ 4BSE 1:0.8 5401 A0
EX:BF /50,0083 (0HE) ZRAAARI(1BF) ® SHOIAIA 1:9.3 540 TR (6) |® 1825 1:10.3 5.0 9L
A8 O3 sty @723 1009 %0 BA @ ©32FD  1:11.7 AR EA '
Z10:1:08.9 (B1215, 54.0, 18%) =X: 15| 1642(E2/221[18.251.7-18.6 / 3 182 -4 3.9 |18.453.3-19.3 / & 18.4- 40 345
H:1:00.9 1&®(0/0/0) 23113041014 A2 600665(8/10) 36-1 =8.2 1102 3326(6/9) V&g
353 543 1 R 230903% X =20 F(=E)
=H [l
G o Al N B30 |20 R FHAA &0 e

W A = @ 70IHY  1:06.2 54.0H B

3AMl (21.06.09) HIZ= & 3 JB Z8 @ 9ZEHI 1:069 5.0 B
(R)EEHR / (2)EHoAl Sak 5005 R.W/19: 75 | @ 501218 1:09.3 53.013 E=
08 (0/0/0/0/0) /08 SHEO: 0X(0/ 0/ 0) @ 3HSET 1:00.4 54.0 CHOt
EM:F / D,008A0H) ZWAH DY (13X) 6 1ZYENY 1:00.9 5.0 2
DA O 22t ® 4SH0Al 1:10.0 .01 B
SHEDI=SIS 2FZW: 108 1012 (2/8 &) [17.952.1-17.9 / &L 17.9 - 4 4.5

5557(6/9) A0g
£[258| $S413 : 0RE
JRrEEDRI

9 }_I 7°| Il "._'c' i [EH 53.0(0) 210315 1R M6 800 2t6% 730&9_4 2:10229 1R ZEEAIAF 800 HI13% 2:10222 1R FEAIAL 800 515%
@ MEHS 1:06.3 540 #BH(1) | 7AR—ER  1:00.2 540 AN @ 5HEE  1:087 5.0 Mz
3Ml (21.05.10) HIF & 3 / LY o omems 167 50 =+ 0) |@ 2220 1@5 SoR 85 @ 72418 1:88 5405+
(R)EUS [ (2)LTH0t Sak 7163 10.5%)/19: 8BS | @) 7HZ0AI 1168 8.0 =2 (6) |@ 4ZYXNE 1:0.9 BOH Y @10812  1:8.8 5.0+ &
1®(0/0/0/0/1) /7008 8xaH0h:  1&( 0/ 0/ 0) @ 8AZ0I0l 1:06.1 58.0 B () |@ 642014 1:10.8 B.0R B2 @ 9ZHY  1:09.1 5401 48
S0 [ ROHHA ZWA: 2 HH(16X) ® 3EAXE 1:06.7 5.0 Y @ |G REIE 1:11.0 54.0 S+ ® 2512 E 1:005 8.0 FS
A5 OhF: 2 & ® 4595 1:07.3 540 880 |© 52HAXR 1112 540 8% ® ZYXE 1:105 8.0 B
Z|10:1:06.7 (24815, 53.0, ) ZXW: 73 122(2) 17.848.9-17.1/ 30 17.8-4 B4 | 18.951.0-17.1/3018.9-436.7 | 19.251.3-17.7 / 3 19.2 - 4 36.2
" 1:06.7 1&(0/0/0) 2307128 X 70077 7(5/10) 287 48 =7.1 1532 77 84(3/10) 27 996 7(6/10) BKg
Z|255| +SA2 AR Fz20@
=JHH felist
10 ,g QI Q 7 54.0(0) 340315 1R M6 800 HEte% 7(;)0'3% 2?1208 R X6 800 H544% 7008+ 2;5112? R FHAAL 800 H6%
{ 2 @ IUEHS 1:06.3 540 28 (1) |D 7THZYH 1:065 50 A (1) |D 8RS  1:07.0 54.0H FY
3Al (21.04.07) ®I= A 3 y 484 @ 28BIE 1:067 540 S2 ) |@ MRS 1:062 570 M2 @ |@ 75E20 1:07.9 5.0 W
(R)EHRN / (LIM=22SE S4k 1,325( 5.00)/18: 65 |@ 7S04 1:068 8.0 2 (6 |@0HBEH 1:07.1 H0 A5 @) |@ 52422 1:09.0 53.0H X
28 (0/0/0/0/0) /0FA iSOk 1&( 0/ 0/ 0) @ BAZ0I0l 1:06.1 8.0 8= () |@ 52022 1074 50 & @) |@ 4S8 1:00.8 54.0H &0
EM:2F /7 008A0NY) ZDAHES(2X) ® 3EAXNZE 1:06.7 B0 UL (2 |6 42201 1:83 53.0 el 1) @ 1HAS 1:10.3 %0 [
1:89 O RE @435 173 N0 B8 @ @635 11106 H0 KL @ ®3FEFD 1117 B EA
Z10:1:07.3 (24815, 4.0, 66) 2ZXW: 75| BB (24/B) | 18.448.9-17.3 /0 18.4- 40 3.0 [18.352.3-19.7 / 30 18.3- 40 B.7  18.451.9-18.4 / 3 18.4 - 4C 4.5
T1:089 28(0/0/0) 100010 109(8/10) 28646 =7.187= | 4004 4 6(9/10) 280 +1 =1.5 132 22 14(5/9) 7%
/353 +S43 1 R =20 =20
#lole SE 558 800m & 800m £|17|5
D - - - - 9 X[ ZX|E 1:06.7
A } : : . 1082l 1:07.3
2 ; ) ) ; 4 7 Mgts 1:086
A - - - - 7781 1:099
- - = = 5 =02 11145
A2 1d 43 2 MY 3 X8 200m 7| 5621 H) Z4t200m 7|5 (621E ) HEX|
T 5 =02 0.744at 5 S0tHE 0.744at 9 X|ZX|E 178 9 X[ZX|E 171 9 X[ ZX|E 101
| 9 ZZRIE 0.7:4%k 9 HZRE 0.754%k 471482 180 1089z 185 10829z 98
P - - 7 2% 182 4788 186 4788 91
S - - 1089z 184 7281 186 7281 84
- - 5 =0t 19.1 5 =0t 203 5 =0t 65

R 233 [2024.03.29] =90t 3" UNtX BtEAl OHAS E&6HAID| dHarLICr




